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(%��) �$��/,����/% �$���$�/&��

ü ����&�$��� �/�$�%�� �� ���-���/% 

�%&�'����% (�'%�$�/� �������/, �$'���/� 
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%<EF5<4 ?D54>EF46?5=<O 
44==OE 6 D47?<G=OE 
<=D>D<4F<>==OE <EF>G=<>4E

� �$�%%�����,�/� ��&� $��%
�=4?<F<>4 ?D54EF46?5==4O 6 7D4D<>4E < >4DF4E 
+ >?>65M5=<5 > ?D56OL5=<OE ��� 6 D56<<5 
D54?L=>7> 6D5<5=<, <>=<F>D<=7 
D45>F>E?>E>5=>EF< >5>DG4>64=<O < 
6>7<>6=>EFL  G?D46?5=<O
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> E>EF>O=<< 6>74GE4 6 >5?4G=GN 
E<EF5<G =4 565<<=GF=>= >E=>65

�����/� %��%�$/
(�����������&�$/)

$>?L: �7<5D5=<5 >>=F5=FD4F<< 747>6 6 
4F<>ED5D=>< 6>74GE5 

�/����$
(��&'�� ����,���/% '�%&�&)

$>?L: �7<5D5=<O >>=F5=FD4F<< 
DD4>F<= ?O?< 6 6>74GE5 
($�10, $�2.5)

�������/ %&��&�/

$>?L: �7<5D5=<5 F5<?5D4FGDO, 
6?46=>EF<, E<?O < =4?D46?5=<O 65FD4
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%�%&��& �� 
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&�$$��'. ���&$�$�' 
(%�%&��� %��$� � ��$���&�� ����/%)

$>?L: %5>D F5?5<5FD<G5E><E 44==OE E <E?>?L7>64=<5< 
557>?4E=OE ?D>F>>>?>6 HTTPS, SSL/TLS E D47?<G=OE 
F<?>6 <7<5D<F5?L=>7> >5>DG4>64=<O, ED4=5=<5 44==OE 6 
E?5F<4?<7<D>64==OE &��, ?5D544G4 44==OE 6 E<56=O5 
<=D>D<4F<>==O5 E<EF5<O (API);

�$�$�%%�����,�/� ��&�$$��%
(���%�%&���)

$>?L: �>EFG? 6 E<EF5<G 4?O ?D>D5EE<>=4?L=OE 
?>?L7>64F5?5=, D56<< «M>E?5DF» 4?O D45>FO E 
44==O<<, ?D54>EF46?5=<5 44==OE =4 >4DF5 ?> 6E5< 
?>EF4< 6 D56<<5 >=?4==, >F?D46>4 G654><?5=<= ?> 
7444==O< E>5OF<O<;

���%�%&��' &�$$���� 
���&$�$�/ ($�%'�&/ � �����&���)

$>?L:  �5D45>F>4 < 6<7G4?<74F<O 44==OE, 
?D54EF46?5=<5 <E 6 6<45 6D5<5==OE DO4>6, 
EF4F<EF<EF<G5E><E >FG5F>6, 47D574F<O D47?<G=OE 
F<?>6 44==OE; D4EG5F <=45>E4 AQI, ���, ��� < 
4DG7<E >4G5EF65==OE ?>>474F5?5=; <>=<F>D<=7 
D45>F>E?>E>5=>EF< >5>DG4>64=<O; �?>65M5=<5 > 
?D56OL5=<OE ���

�'���'�/� ��$&��
(���%�%&���)

$>?L: <4>E<<4?L=> =47?O4=>5 >F>5D465=<5
<=D>D<4F<< > >4G5EF65 6>74GE4 (6 F>< G<E?5 
<=45>E AQI), 4<=4<<G5E>< >5=>6?O5<O5 7D4D<><, 
F45?<FO < 4<47D4<<O;
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,G<><5D-4=4?<74F>D E?5>FD4 1-7> >?4EE4

�55E?5G<645F =5?D5DO6=>5 <7<5D5=<5 GD>6=5= 76G>4 <  76G>>6>7> 846?5=<O 6 >>F46=OE 
< FD5FL5>>F46=OE ?>?>E4E

$G=>F<>=4?L=O5 6>7<>6=>EF< ,G<><5D4

Ø �7<5D5=<O GD>6=5= 76G>4  (>?4EE 1 ?> ��%& 17187-2010 < �-� 61672-1)

Ø �7<5D5=<5 GD>6=5= 76G>>6>7> 846?5=<O 6 >>F46=OE < FD5FL5>>F46=OE ?>?>E4E G4EF>F

Ø �7<5D5=<5 ?<>>6OE GD>6=5=

Ø '4EF>F=O5 >>DD5>F<< A, AU, C, Z

Ø �6F><4F<G5E>4O 74?<EL 6 ?4<OFL
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CO �>=>>>E<4 G7?5D>44 (G74D=O= 747) <7/<3 0 ... 250

NO2
�<>>E<4 47>F4 <7/<3 0 ... 2

SO2
�<>>E<4 E5DO <7/<3 0 ... 2.9

O3
�7>= <7/<3 0 ... 7,5

H2S %5D>6>4>D>4 <7/<3 0 ... 15,2

NO �>E<4 47>F4 <7/<3 0 ... 1,3

CH4
�5F4= <7/<3 0 ... 60000

CO2
�<>>E<4 G7?5D>44 (G7?5><E?O= 747) <7/<3 0 ... 9000

CH2O $>D<4?L457<4 <7/<3 0 ... 5

HCl %?>D>6>4>D>4 <7/<3 0 ... 20

HF $F>D6>4>D>4 <7/<3 0 ... 20

NH3
�<<<4> <7/<3 0 ... 20

�E=>6=4O >F=>E<F5?L=4O ?>7D5L=>EFL <7<5D5=<O, =5 5>?55 % 20

�56?>65D>G=O= <=F5D64? 747>4=4?<74F>D4 7>4 1

%D>> E?G65O 44FG<>>6 747>6 7>4 2

%D54=<= ED>> =4D45>F>< =4 >F>47 747>4=4?<74F>D4 (ED>> E?G65O)
7>4 3

7

7
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�OO6?OFL «FD56>6=O5» F>G><, 789 >FEGFEF6G9F 

7>EG84DEF69==4O E9FL =45?N89=<O

%6>96D9<9==> ?>?GG4FL <=D>D<4F<N > 

?D56OL5=<OE ��� 6 D56<<5 D54?L=>7> 

6D5<5=< 8?O >?9D4F<6=>7> >>=FD>?O < 

G?D46?9=<O M>>?>7<G9E>>= E<FG4F<9= 

(>>=FD>?L=>-=447>D=O= <>=<F>D<=7)

�D>69DOFL 85=EF65==>EFL ?D>6>8<<OE 

<5D>?D<OF<= ?> >78>D>6?5=<N >>DG64NM5= 

ED58O =4 ?D4>F<>9

%>78464FL 8<<4=<G9E><9 <>89?< ?> 

D4E?D>EFD4=5=<N 747DO7=ONM<E 65M5EF6

«���&$�»

�4 5479 E>5D4==>= EF4F<EF<>< 

>><5<=<D>64==>= E9F< ?>8F69D8<FL / 

E>>DD9>F<D>64FL =>D<4F<6O 8>?GEF<<OE 

6O5D>E>6 8?O D47?<G=OE >4F57>D<= >5N5>F>6, 

>>47O64NM<E =974F<6=>9 6>789=EF6<9

�D><76>8<FL <=EFDG<9=F4?L=GN 

(?>8F69D68U==GN) >F9=>G 6?<O=<O 

=95?47>?D<OF=>= M>>?>7<G9E>>= >5EF4=>6>< =4 

?D>8>?6<F5?L=>EFL 6<7=< =4E5?5=<O 6 

D57<>=4?L=>< 4E?5>F5 

�D>7=>7<D>64FL 85<>7D4D<G5E>GN E<FG4F<N 

6 EFD4=5, < >4> E?98EF6<9 ?D<=<<4FL 

MDD9>F<6=O9 G?D46?9=G9E><9 D9L9=<O

�484G<, D9L49<O9 E9FLN <>=<F>D<=74 =4 5479 
<4?>7454D<F=OE ?>EF>6



� >><?4=<< ��� «'$'%-'<=O5 F<DD>6O5 E5D6<EO»

�><?4=<O O6?O5FEO 4>>D54<F>64==>= �&->><?4=<5= 3
D47D45>FG<>>< E?5F<4?<7<D>64==>7> �� «�?4FD>D<4
->>�>=». % 2018 7>84 D47D45>F4=> 3 ?D>7D4<<=OE
?D>8G>F4 GEF4=>6?5=> 5>?55 500 ED58EF6 <7<5D5=<O 6 8
D57<>=4E $>EE<<

%>EF46=O5 G4EF< ?D>7D4<<=>-4??4D4F=>7> >><??5>E4
(���) E5DF<D<F<D>64=O 6 $>EE<<:

q �5>DG8>64=<5 6 D55EFD4E %�: �47>4=4?<74F>DO
(%6<45F5?LEF6> %� RU C.31.165.A 770939),
?O?5<5DO, ?>7>4=4O EF4=F<O;

q �?4FD>D<4: EcoMon.Cloud (%6<45F5?LEF6> 7
2019615337), ->><>=.%5D65D (%6<45F5?LEF6> 7
2022667471), EcoMon.Controller;

�?4FD>D<4 5O?4 <=F57D<D>64=4 6 D57<>=4?L=O5
7>EG84DEF65==O5 <=D>D<4F<>==O5 E<EF5< ($��%O), 6
F5EF>6>< D56<<5 6 &�$ ��� (�%� ??4FD>D<4 �<=&<DDO
$$) < 46F><4F<G5E><5 E<EF5<G G?D46?5=<O (�%')
?D58?D<OF<=



$>F> D54?L=OE GEF4=>6?5==OE ?>EF>6



$>F> D54?L=OE GEF4=>6?5==OE ?>EF>6

�>EF <>=<F>D<=74 E ?O?5<5D>< AIR %D 

Trolex 6 F5D<>L>4DG < <5F5>EF4=F<5= 

Davis

�6F>=><=O= ?>EF4 <>=<F>D<=74 E ?O?5<5D>< < 

747>4=4?<74F>D>< Thingenix, 4=5<><5FD>< < 

E>?=5G=>= ?4=5?LN



$>F> D54?L=OE GEF4=>6?5==OE ?>EF>6

�>EFO <>=<F>D<=74 E 6 �<6=5< �>67>D>45 �>EFO <>=<F>D<=74 6 E>EF465 6OEF46>G=>7> EF5=44
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air.giskaluga.ru

�=F5D=5F ?>DF4? @>=<F>D<=74 4F@>ED5D=>7> 
6>74GE4 6 �4?G6E>>= >5?4EF<
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%5FL <>=<F>D<=74 6>74GE4 6 7>D>45 E>EF><F <7 25 
?>EF>6, GEF4=>6?5==OE ?> 74>47G >DG?=>7> 
?D><OL?5==>7> >5N5>F4

�45?N45=<O ?D>6>4OFEO ?> 747DO7=ONM<< 65M5EF64<: 

" $� 2,5 (6765L5==O5 G4EF<FO)

" $� 10 (6765L5==O5 G4EF<FO)

" >>E<4 G7?5D>44 (CO) 

" 4<>>E<4 47>F4 (NO2) 

" 4<<<4> (NH3) 

" 4<>>E<4 E5DO (SO2)

" E5D>6>4>D>4 (H2S)

" D>D<4?L457<4 (CH2O)

" <5F5>?4D4<5FDO

25 <4?>7454D<F=OE ?>EF>6                 GEF4=>6?5=O =4 

=4<5>?55 «FD56>6=OE» E F>G>< 7D5=<O M>>?>7<< 

6>74GE4 ?>>4F<OE

�?>F=4O E5FL <>=<F>D<=74 6>74GE4 
6 7. �D4E=>ODE>
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�45?N45=<O ?@>6>4OFEO ?> 747@O7=ONM<< 65M5EF64<: 

" >>E<4 G7?5D>44 (CO) 

" 4<>>E<4 47>F4 (NO2) 

" 4<<<4> (NH3) 

" 4<>>E<4 E5DO (SO2)

" E5D>6>4>D>4 (H2S)

" <5F4= (CH4) 

" $� 2,5 (6765L5==O5 G4EF<FO)

" $� 10 (6765L5==O5 G4EF<FO)

�>?55 250 EF4F<>=4D=OE ?>EF>6 GEF4=>6?5=> 

44<<=<EFD4F<5= 6 =4E5?5==OE ?G=>F4E

�>?55 60 ?>EF>6 =4 >5N5>F4E &�� < ��� < 

44==O5 ?5D544NFEO 6 ��% ->><>=<F>D<=7 ��

�?OF <=F57D4F<< E ��%4<<

��% «%<EF5<4 M>>?>7<G5E>>7> <>=<F>@<=74 
>>@G64NM5= E@54O �>E>>6E>>= >5?4EF<»
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� D45>G5= 7>=5 >>=F5=FD4F<O ?O?< ?D56OL45F 
4>?GEF<<O5 7=4G5=<O 6 45EOF>< D47

�>=<F>D<=7 ?>>474? MDD5>F<6=>EFL E<EF5<O 

?O?5?>446?5=<O - =4 7D4=<F5 %�� >>=F5=FD4F<O
<5?>>4<E?5DE=>= ?O?< 6 10 D47 =<65 ?D545?L=> 

4>?GEF<<>7> 7=4G5=<O

�765L5==O5 G4EF<FO $�10 �765L5==O5 G4EF<FO $�10

" �>EFO <>=<F>D<=74 4F<>ED5D=>7> 6>74GE4 6 >>?<G5EF65 6 ��� 5O?<

D4E?>?>65=O =4 F5DD<F>D<< 54?>5D=>7> F5D<<=4?4 < =4 7D4=<F5 E4=<F4D=>-

74M<F=>= 7>=O 6 E>>F65FEF6<< E ?D>7D4<<>= �-� ?D54?D<OF<O. �4

F5DD<F>D<< F5D<<=4?4 ?D>6>4<FEO >><??5>E D45>F ?> ?O?5?>446?5=<N.

" %<EF5<4 =5?D5DO6=>7> <>=<F>D<=74 45<>=EFD<DGNF MDD5>F<6=>EFL

?D>6>4<<OE <5D>?D<OF<=.

$45>F4 E<EF5<O <>=<F>D<=74 =4 F5DD<F>D<< �GD<4=E>>7> 
?>DF4, 6>?NG4NM4O <>=<F>D<=7 LG<4. �F5=>4 
MDD5>F<6=>EF< ?O?5?>446?5=<O




